R

LIST OF DRAWINGS

Public Services and Procurement Canada
Services publics et Approvisionnement Canada

Ontario Region
Parks Canada Infrastructure Directorate
Heritage Canals and Engineering Works

Région de I'Ontario
Direction de linfrastructure de Parcs Canada
Canaux historiques et travaux d'ingénierie

Parcs
Canada

Parks
Canada

RIDEAU CANAL - POONAMALIE DAM
PHASE lll CATWALK

100
101
102
103

COVER PAGE AND SITE AND LOCATION PLAN
PLAN, ELEVATION SECTIONS AND DETAILS
CATWALK DETAILS 1

CATWALK DETAILS 2

~ SITE: - .~
_"/’ X S B

%,

LOCATION PLAN

SHORELINE

PROPOSED
CATWALK

Poonamalie
Main Dam

~J
S

Concrete Hydro
Box Inground

O

c/w Anchor

/ SHORELINE BASED
ON WATER
EL.122.9 m

(NOV. 23, 2016)

Rideau River

NN
PN /
NSNS
AN

\/emegd/

Hydro Po\e\

NOTES :

ELEVATIONS SHOWN HEREON ARE GEODETIC
AND ARE DERIVED FROM GEODETIC SURVEYS
OF CANADA BENCHMARK No 48U618G HAVING
AN ELEVATION OF 124.287 m

N (CGVD—1928:1978).

AN THE BENCHMARK IS ON CANAL CUT INLET
DAM, 4.0 km UPSTREAM FROM POST OFFICE,

\;\(\e _—1 900 m UPSTREAM FROM POONAMALIE LOCK
. Aro_=— 32, TABLET IN TOP OF CONCRETE BASE OF
Y BULKHEAD ON RIVER SIDE OF CANAL CUT,
24.2 m UPSTREAM FROM SOUTHEAST END OF
MAIN DAM, 70 cm FROM CANAL EDGE, 30 cm
NORTHEAST OF STOP LOG SLOT.

THE LEGAL SURVEY INFORMATION SHOWN ON
THIS PLAN ARE FOR ILLUSTRATION ONLY.
MORE DETAILED LEGAL SURVEY INFORMATION
CAN BE OBTAINED BY CONSULTING THE
APPROPRIATE DOCUMENTS.

THE LOCATION OF UTILITIES ON THIS PLAN
HAVE BEEN VERIFIED WHERE POSSIBLE
HOWEVER THE RESPONSIBLE AGENCIES SHOULD
BE CONTACTED FOR VERIFICATION PRIOR TO
CONSTRUCTION.

PLAN COMPILED FROM FIELD SURVEY, AUGUST,

2017 AND CLSR PLAN 75497 (27R-5710)
AND REGISTERED PLAN 27-1044.

. . | . o e LT, N
AR il Sp— ity
{:.p’\{"‘l""'"" 1 .:-I il B

SITE PLAN
N.T.S.

YT
]

t
LI S
5 T- {
=y

L

P AR et s S !
- 1 | 1
b £ “K__ — - .
K - o m g f e [
“ 1 .3 . ‘_-.r'-.l .. 3

ISSUED FOR TENDER

2019-07-31

i+l

Canada

PSPC PROJECT NUMBER
R.066861.319



SLUICE

Ontario Region

Région de I'Ontario

Parks
Canada

Parcs
Canada

I+l

Canada

Public Services and Procurement Canada
Services publics et Approvisionnement Canada

Heritage Canals and Engineering Works

Canaux historiques et travaux d'ingénierie

2

CONCRETE DECK

L

% CATWALK

457

POST ¢ PoST POST ¢ | PosT
|
¢ 8700 7200 8700 PIER
A il
OUTLINE OF DAM
FOOTING gxég’EigEPS  W-30-102 (263) W200x46 CROSS BEAM
] & -30- (TYP.)
GUARDRAIL =158 EACH C310x31 ggﬁgﬁ%&gﬁﬂl\l&%ﬁm STEEL BRACKETS
D/S SIDE ONLY TPy SPLASH BOARD
N N A R S L SUPPORT R
B \ (TYP.) - - -
| | *&
- — — Y S —-——— - - —— — 41 N — / d_ o —e—e—e — Lg = o — L ——ng ‘g— i ——e 7:7j o — —of
| | | 4 ' 4 | 074 .0 | T '
< | | Ll T | | | NN | er | / | L
: - S |=x | L i 7 N i PO a1 _ -
EX. T/0 CONC. o | ‘ y, ‘ N " I
5 \/
| Q WATER
- - - - — GAUGE 42.2x4.85 PIPE W130x24 W200x52 POST EXISTING SPLASH BOARD
GUARDRAIL (TYP.) (TYP.) REMOVE AND REINSTALL EXISTING RAILING
(TYP.) |
OUTLINE OF DAM /
FOOTING
7315 11582 1524 21946 1524 DAMOPNG _
ROUND EXISTING SPILLWAY ROUND PIER
175
% RAILING SEGMENT —= % % RAILING SEGMENT % 100 MAX. EXISTING RAILING
CONNECTION CONNECTION SEE
100 MAX. DETAIL DWG. 103
- - T.0.NEW CATWALK
éVg)‘(I'ER GAUGE = —H TO MATCH EXIST
H 4 DECK EL. 125.42m
T.0. WALL N T
EL.12465m | VY - ¥ ___r _____¥r 1 o T ¥ T — 1 & ¥ ¥ ¥ 1
— EXISTING SPLASH BOARD ! ]-—-[
; REMOVE AND REINSTALL A |
I I
| | T T ” T ” T T
L e e e e — e ~
\ | ] 7
| |
| |
\
- [ N N
[E— [ [ [ [ [ —_ ‘
. - ] |
N S R R N
/ APPROXIMATE EXISTING
IE)(L)JS'LI'IIII\\IIZOF DAM GRADE LINE
UPSTREAM ELEVATION
1:75
¢ W200 COLUMN
¢ CATWALK 50 204 50
A A |
1 1 TYP>—6‘7—€ L152x102x11x250 LONG
1 1 FLASH W/TOP OF COLUMN
42.2x4.85 PIPE gi W200 COLUMN -
! . GUARDRAIL ‘ =
(TYP) 2
| 914 | £ g 4 /
1 CATWALK WIDTH | AN ) S y
1 To]
o ‘ O O B B B B © g
W-30-102 (25x3) - - PL. 180x12 STIFFENER —$§MN/ETV(\§|SS<Y§LK C S ] T N ol
GRATING (TYP.) \101/ ' N T
| | DECK EL. 125.42 m | | 0 | q) B B
| | | |
@22x26 SLOTTED W200x52 COLUMN
FLOW HOLE FOR M20
W200x46 CROSS C310x31 o BOLT (TYP.) SECTION /(-3\
BEAM T ( ) a 1:10 1 01
L152X102X11 N W200x52 (T
CLIP COLUMN |
457 (TYP.) — EL.124.24 m ~
HISTORICAL HIGH W.L. 200 COLUMN DRAIN HOLE
PIPE 219.1x8.18 THICK \
NOSE / STIFFENER \ BASE — EL 123.90 m VP, - BASE PL.
I AN PL. 700x450x20 HIGH SUMMER W.L. = 4 700x450x20
CHOCKING COMPOUND N <
| i \ — Q
L LN,/ g'FgLE\)/(in\T(ING S FLOW & Z
. T EL. 123.65 - s ~J ~ 2
. 123.65m Py |
ﬁ ° o | m‘ / b0 B N @ N L S
0 I I / T §
— I I l EL. 123.10 m / 77 S =
- £t ' ' / 7/ FLOW
—Fog Ll * LOW SUMMER W.L. / ! \ L JIH | o
f - 4 N 7 Y %@7
: ‘| ’ S== = i N
— o 7} S 7
:\:IZSQFQTEVHVCI)TIT-IBOLT = B3 7/ PIPE 219.1x8.18 / === Juny =
EPOXY ° ° | NOSE/STIFFENER U/S & DIS, o — - - —~ -2
(TYP.) | o | PROVIDE DRAIN HOLES FOR % L J S
‘ N CLOSE SPACES /
@24 HOLE FOR M20 \ —— W200x52 COLUMN

EXIST. ‘
GRADE

SECTION /A

1:20 101

COLUMN - ELEVATION

1:10

2 REQUIRED

ANCHOR BOLT
(TYP.)

6 mmTHICK
COVER PLATE

60

76 212

580 .60

¥ PL. 6 mm THICK SPLASH BOARD

SUPPORT WELDED TO BASE PL.
AND COVER PL. ALL 4
(TYP.)

SECTION /D

1:10 101

PROVIDE DRAIN
HOLE FREE OF WELD
FOR CLOSED SPACES

(TYP.)

T.0.CONC. SPILLWAY
r EL. 123.65m

FLOW

DRAIN HOLE

COLUMN PARTS ASSEMBLY

N.T.S.

NOTES:

1. DIMENSIONS IN MILLIMETRES AND ELEVATIONS
IN METRES UNLESS NOTED OTHERWISE.

2. WALKWAY DESIGN CRITERIA: LL = 1.92 kPa
UNIFORMLY DISTRIBUTED AND VERTICAL

LL DEFLECTION < L/360.

3. TOP OF CATWALK TO BE MATCHED WITH

TOP OF EXISTING DAM DECK.

4. GUARDRAIL AND GUARDRAIL POSTS

TO BE POWDER COATED BLACK.

5. STEEL COMPONENTS (COLUMNS AND FRAMES)
TO BE HOT-DIP GALVANIZED TO ASTM A123/123M.

6. BOLTS ON STEEL COMPONENTS

TO BE GALVANIZED TO ASTM F3125

GRADE A325.
1. ISSUED FOR TENDER H.C. | 12-06-2019
No. Description B\g:_ 'Egr Date

Revision / Révision

Do not scale drawings.

Verify all dimensions and conditions on site and immediately notify the

Departmental Representative of all discrepancies.

A Detail number
Numéro du détail

B Location dwg. number
Numéro sur dessin

Project title / Titre du projet

POONAMALIE DAM

PHASE Il
CATWALK

\ DRAIN HOLE

Drawing title / Titre du dessin

PLAN, ELEVATION
SECTIONS AND DETAILS

Drawn by / Dessiné par

HENRYK CHRZANOWSKI

Designed by / Congu par
THUC VAN QUAN E.ILT.

LUC BERIAULT  P.Eng.

Approved by / Approuvé par

LUC BERIAULT, P.Eng.

Drawing Date / Date du dessin

APRIL 2019

Project manager / Administrateur de projet

PIERRE GRAMBART

Drawing Number/
Numéro du Dessin

Project Number / Numeéro du projet

R.066861.319

101

Sheet of
Feuille 2 du 4




COLUMN

|

L152x102x11
250 mm LONG

v

¢

TYP.

v

450

COLUMN - ELEVATION

65

1:10

2 REQUIRED
¢ COLUMN
320 65

TYP.

x20

6]/ Q\/

D —

150

i\

N
g
|

150

BASE PL. 450x300

W200 COLUMN
AND CROSS BEAM

\

TYP.

AN

TYP.

CROSS BEAM - ELEVATION

1:10

W200 COLUMN
AND CROSS BEAM

50 204 50
=
—— PL. 180x95x12 ~ 3
STIFFENER s 3
4 REQ'D S0
(TYP.) § 8%
T ¢ | | &

SHORT COLUMN BOTH ENDS OF CATWALK 2 | - -

C31 0[31
CATWALK ep

D

W200x46 BEAM ASSEMBLY PARTS

N.T.S.

FRAMING 1 or 3

FRAMING 1, 2 & 3 SPLICE - DETAIL

N.T.S.

¢ CATWALK

SECTION /G

1:15 102

CATWALK

SECTION /H

Ontario Region

Parks
Canada

L4

Canada

Région de I'Ontario
Canaux historiques et travaux d'ingénierie

Parcs
Canada

Public Services and Procurement Canada
Services publics et Approvisionnement Canada

Heritage Canals and Engineering Works

2

I+l

NOTES:

1. STEEL COMPONENTS ( COLUMNS AND FRAMES)
TO BE HOT-DIP GALVANIZED TO ASTM A123/123M.

2. BOLTS ON STEEL COMPONENTS
TO BE GALVANIZED TO ASTM F3125

GRADE A325.
1. ISSUED FOR TENDER H.C. | 12-06-2019
No. Description B\évsn_ ',E;’r Date

Revision / Révision

Do not scale drawings.

Verify all dimensions and conditions on site and immediately notify the
Departmental Representative of all discrepancies.

A Detail number
Numéro du détail

B Location dwg. number
Numéro sur dessin

GUARDRAIL ANCHOR
SEE DETAIL 1/103

FRAMING 2 - PLAN

1:156
1 REQ'D

@322x26 SLOTTED HOLE —— o N.T.S. c#
ggﬁT%%?ELCLHV(\?EH & W200x52 COLUMN 223 HOLE FOR
EPOXY M20 BOLT
(TYP.) (TYP.)
SECTION /E\ CROSS BEAM - SECTION /F\
102 1:10 102
7980
180 1500 1800 1800 1800 900
G HY) (1)
= C310x31 g (TYP.)
( ) D X q «
| — T ~C — — T — — ] — — — T ] N
|
X X
: ;; | N | | | 1 3
TYP.
= (bPi4d] = s/ =
0 - T T ¢8 3 3 3 3 s ©
- — S0 - st - - ~ 3 ~ ~ ~ B -~ ~ ~ - X - — H2
Qo @ @ @ I5e] S
i =+ J =g = = = = B
r> d
| © T TYP. 7 B Ve P
H S
| |
L1 | NN . ] _ _ BN _ _ N _J
J i) i) J C310x31 i «
GUARDRAIL ANCHOR J
SEE DETAIL 1/103
FRAMING 1 & 3 - PLAN
1:15
1 OF EACH REQ'D
9000
900 1800 1800 1800 1800 900
W C200x21
() (HY) (TYP.)
| | C310x31 | | |
) - - 0) e @ | - ) - - 0)
N ] BN | T 1 B =
i H H w
x L H \6 H )
<
= [ TYP. [
z = (pid] s/ (F14] .2
°© 3| @ | 3 3| 3| T & 1
Dol g9 1 |- - - - S - - - - - - g - - - -1 8% —
3 |- =Q 4 L | = > = L L =9© |
(@] ED H C j ED H Cj O /
7 H | =
| H H |
L 1 ¥ . . Hl . H I . 1] . . L _J
L i) J i) C310x31 i) J i i)

A

Project title / Titre du projet

POONAMALIE DAM
PHASE Il
CATWALK

1:15 102
CATWALK
914
|
100 357 357 100
o
©
\—;—H H c}‘ﬂ H _a o
| [ [ 9 9
| [ 4} [ 2 3
A I T 1 -9 -
B22x26 SLOTTED ‘
HOLE FOR M20 BOLT
ve) SECTION /1
1:15 102
FRAMING 1 & 3 AT
CONNECTION WITH FRAME 2
% CATWALK
914
|
100 357 357 100
o
©
TYP.
6 |/ - _
=3 | P N A [ ]
| [ [ 9 9
| [ [ - @
A | A |, G | -
220 HOLE
(TYP.)
SECTION /00
1:15 102
BOTH ENDS
OF FRAMING 2

Drawing title / Titre du dessin

CATWALK DETAILS 1

Drawn by / Dessiné par

HENRYK CHRZANOWSKI

Designed by / Congu par
THUC VAN QUAN E.IT.
LUC BERIAULT P.Eng.

Approved by / Approuvé par

LUC BERIAULT, P.Eng.

Drawing Date / Date du dessin

MARCH 2019

Project manager / Administrateur de projet

PIERRE GRAMBART

Drawing Number/
Numéro du Dessin

Project Number / Numéro du projet

R.066861.319

102

Sheet of
Feuille 3 du 4




V] v pay) ou 4y ou ou v ou yu 1uuU 11 12U 10U 14U 10U 1ou 11 10U 19U ZUU  HHNIEUEs
I

Public Services and Procurement Canada
Services publics et Approvisionnement Canada

Ontario Region
Heritage Canals and Engineering Works

Région de I'Ontario
420 e 1395 1500 3 POSTS @ 1800 c/c e Canaux historiques et travaux d'ingénierie
— Ny 4 SPAGES = 7200 RAILING PANEL
- CONNECTION | e 42.2x4.85 PIPE GUARDRAIL
100 | POST (TYP.) Parks Parcs
| | Canada Canada
1) 27\ |
25 GUARDRAIL 20 GUARDRAIL | 1+l
EXPANSION EXPANSION | M20 NUT WELDED ‘ anada
O O
75 75 | TO POST SLEEVE
26.7x7.2x175 LONG 26.7x7.2x100 LONG -l C/W LOCKING BOLT
| PIPE SLEEVE PIPE SLEEVE (Tl (TYP.)
(TYP.) (TYP) >— (TYP.) I
42.2x4.85 PIPE GUARDRAIL ﬁ Il
(TYP.) GRIND SMOOTH I I
‘EE’ | '
J ‘ / Il
>y e e e ol
il P l i | || |l=—— 60.3x5.54x225 LONG
e i i I o I PIPE GUARDRAIL
i TYP) >—— i 3 Ll POST SLEEVE
100 _ ! ! ] vP)
MAX. P | B B
7 - ___ s TN T e/ (e ——————— 1 =g — 4
z //: /’/////// | i | i qi::b
- =7 - ’///’/ } } } } % 40X6 FLAT BAR } } o 16 mm SQ BENT STEEL
| | o B
GUARDRAIL Pt | i N WELDED TO ENDS OF || S 2AR WELDEDJO POST
D/S REQUIRED A - i i e RAILS | S LEEVE AND C310:31 NOTES:
ONLY |l N\ B B 44 ® C310x31 (TYP.) (TYP.)
~ i s N e e R SRR B i =L = | i 1. GUARDRAIL AND GUARDRAIL POSTS
B B | | | | | TO BE POWDER COATED BLACK.
b b L I M10 BOLT c/w o
% | M2 BOLT c/w | | WASHERS AND NUT = & POST ANCHOR - DETAIL m 2. BOLTS, WASHERS & NUTS ON GUARDRAIL
‘ | WASHERS AND NUT i | (TYP.) 15 103 EXPANSION CONNECTION TO BE STAINLESS STEEL.
|iiii“‘i“iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii“‘ s 32 LOCATIONS
| =v— i g
= L 2 - L50x6 CLIP
o2 D/ — ANGLE i \ 5
52 I (TYP.)
= ° ‘
C250x37 STRINGER C310x31 W130x24 .
\ CROSS BEAM
e %LZSBHE%CA",‘\’ID NUT C310x31 60.3x5.54x225 LONG
o PIPE GUARDRAIL
B (TYP.) \ POST SLEEVE
C310x31 (TYP.) (TYP.)
PREFABRICATED GRATING
FACE MOUNT CONNECTION 4 mm THICK STEP 892 LONG BOLTED
BASE PLATE FOR GUARDRAIL END PL. 6 mm BASE PL TO STRINGERS
REFER TO DETAIL 4/103 16 mm SQ. BENT STEEL
AND PCA STANDARD M12 ANCHOR INSTALL —— BAR WELDED TO POST
DETAILS P7 WITH EPOXY, 125 mm i SLEEVE AND C310x31
EMBEDMENT (TYP.)
4 STEPS 280 WIDE
SECTION /é\ TREADED HOLE IN SECTION /E\
115 103 CLIP FOR M10 110 W
W-30-102 (25x3) 149 IN BAND
GRATING c/w TO FIT LOOSELY
BEND PL. 25x5 M10 BOLT
|
% O O N
f 7\
=R
‘ :
GRATING LOCKING M10 LOCKING
CLIP 25x6 BENT BOLT
FLAT BAR
C310x31 J
Pﬂ—— 42.2x4.85 PIPE GUARDRAIL
o POST (TYP.)
' |
o ‘200‘
| |
; ; 1. ISSUED FOR TENDER H.C. | 12-06-2019
GRATING LOCKING CLIP - DETAIL /3 T.0.CONCRETE o No. Descrpton -
13 103 WING WALL 30 140l 30
Revision / Révisi
2 REQUIRED ON EACH SIDE OF GRATING PANEL } } evision FRevision
‘ ‘ Do not scale drawings.
Verify all dimensions and conditions on site and immediately notify the
oz ‘ ‘ Departmental Representative of all discrepancies.
T 2ls IR
‘ [T ‘
3 - i
B -+ | —b— A Detail number
- - | Numeéro du détail
I — B Location dw
ﬂ g. number
§ ‘S_r W (I ' Numeéro sur dessin
11 60.3x5.54x225 LONG
[T PIPE GUARDRAIL
— — Al POST SLEEVE
S L] (TYP.)
@16 HOLE FOR —— 200x200x13 BASE PLATE
M12 ANCHOR BOLT (TYP.)
INSTALL WITH EPOXY
(TYP.)

ELEVATION - DETAIL /4
1:5 103

5 REQUIRED FOR DETAILS Project title / Titre du projet
REFER TO 1/103

0. CONCRETE POONAMALIE DAM
WING AL PHASE Il
POST ANCHOR - AXONOMETRIC VIEW CATWALK

Drawing title / Titre du dessin

FACE OF CONCRETE —

WING WALL 5 Crve)
5

CATWALK DETAILS 2

PROVIDE VENTING & DRAINAGE

POST ANCHOR - DETAIL- SECTION /4 F

HOLES
1:5 103 A\ 103
Drawn by / Dessiné par Designed by / Congu par
THUC VAN QUAN E.LT.
HENRYK CHRZANOWSKI LUC BERIAULT  P.Eng.
Approved by / Approuvé par Drawing Date / Date du dessin
LUC BERIAULT, P.Eng. APRIL 2019
GUARDRAIL EXPANSION CONNECTION - DETAIL /"1 GUARDRAIL EXPANSION CONNECTION - DETAIL /"2 Drang Naroar
2 LOCATIONS 103 2 LOCATIONS 103 PIERRE GRAMBART
Project Number / Numéro du projet 1 O 3
R.066861.319 Sheet 4 of

ISO-B1 (707x1000) PLOTTED BY: QUANT DATE PLOTTED:  Aug 19, 2019 FILE NAME: Poonamalie Dam Catwalk -2019-103.dwg LAYOUT NAME: 103



